Hir Jpray Gun

;

f‘fs.

WX-801PT WX-801HT WX-802PT WX-803PT WX-803HT
HP SEfE HVLP SR EEERE HP SEfE HP EEig HVLP & 2 EEEE

Pressure
Regulator
{088 T R R

i hii
5 ¥

WX-804PS WX-804PB WX-805HT WX-805XT 797004020

HP S8 HP S8 HVLPE R & {KEE XRP ERFB{ERIRRIE

U, 3
¥

(2 ?
]
WX-806HT WX-806HB WX-807PS WX-807PB
HVLP S E{EEE HVLPE R E (XS HP S Bt HP S g

Nozzle y  Fluid Inlet Size Working Pressure Weight Packing

AZEOHAE TEBES EE B (CTN)

mm psi g PCS/N.W./IG.W./CUFT
WX-801PT 1.3/1.4/1.5/1.7/2.0/2.5 M161.5P 30~45 620 10pcsi10.5kg/11.5kg/1.7'
WX-801HT 1.3/1.4/1.5/1.7/2.0 250 600 M16*1.5P 15~28 620  10pcs/10.5kg/11.5kg/1.7"
WX-802PT 0.5/0.8/1.0/1.2 80-90 125 M14*1.0P 30~45 280 20pcs/11kg/12kgl1.4'
WX-803PT  1.0/1.2/1.3/1.4/1.5/1.6/1.8/2.0/12.5 210 600 M16*1.5P 30~45 514 10pcs/9.5kg/10.5kg/1. 7'
WX-803HT  1.0/1.2/1.3/1.4/1.5/1.6/1.8/2.0/2.5 270 600 M16*1.5P 15~28 514 10pcs/9.5kg/10.5kg/1.7"
WX-804PS 0.8/1.1/1.4/1.8/2.0/2.5 190 250 or 400 1/4" NPS 30~45 476 10pcs/9.6kg/10.6kg/1.7"
WX-804PB 1.1/1.4/1.8/2.0/2.5 190 700 or 1,000 1/4"NPS 30~45 486 10pcs/10kg/11kg/1.7'
WX-805HT 1.3/1.4/1.711.8/2.0/12.5 300 600 M16*1.5P 15~28 450 10pes/9.3kg/1.3kg/1.7'
WX-805XT 1.3/1.4/1.7/1.8/2.0/12.5 280 600 M16*1.5P 15~28 450 10pcs/9.3kg/10.3kg/1.7"
WX-806HT 1.3/1.4/1.5/1.7/2.0/2.5/3/3.5 250-270 600 M16*1.5P 15~28 620 10pes/10.5kg/11.5kg/1.7"
WX-806HB 1.3/1.4/1.5/1.7/2.0/12.5 250-270 1,000 3/8"NPS 15~28 630 10pcs/14kg/15kg/M.7'
WX-807PS 0.8/1.0/1.3/1.5/1.8/2.0/2.5 200-230 250 or 400 1/4"NPS 30~45 410 10pcs/8kg/9kg/1.7"
WX-807PB 0.8/1.0/1.3/1.5/1.8/2.0/2.5 200-230 700 0r 1,000 1/4"or 3/8" NPS 30~45 410 10pcs/9.5kg/10.5kg/1. 7'
o Airlnlet / lEROR : 1/4" NPS HVLP = High Volume Low Pressure
P:HP EEHE / H : HVLPE R {ERE / X XRPEZHERIRRE HP= High Pressure
T: Top Cup_L#% / B : Botton Cup 4% / S : Side Cupfill#f XRP = Extra Reduce Pressure

www.soartec.com.tw @





